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Question Id : 87827025553 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions

that follow.
Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

Options :

878270100841. 1
878270100842. 2
878270100843. 3

878270100844. 4

Question Number : 2 Question Id : 87827025555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780

) 17780

) 18870
Options:
878270100845. 1
878270100846. 2
878270100847. 3

878270100848. 4



Question Number : 3 Question Id : 87827025556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
teference to the previous year ?

(1) 38 %

2) 28 %
(3) 48 %
(4) 4%
Options :
878270100849. 1
878270100850. 2
878270100851. 3

878270100852. 4

Question Number : 4 Question Id : 87827025557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

1) 630
Q) 830
B) 430
W 410

H=

Options :
878270100853. 1
878270100854. 2

878270100855. 3
878270100856. 4



Question Number : 5 Question Id : 87827025558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

1) 2
Q) 3
3 4
4 5
Options :

878270100857. 1
878270100858. 2
878270100859. 3

878270100860. 4

Question Id : 87827025553 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T ¥, 2016 H R s 1 et e 2018  F41 e ot i ) o el W (%) 2
1) 81

) 94
) 84
§) 74

2
3
Options :

878270100841. 1
878270100842. 2

878270100843. 3

878270100844. 4

Question Number : 2 Question Id : 87827025555 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf | fafdd el =t Fe1 den oo 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

878270100845. 1
878270100846. 2
878270100847. 3

878270100848. 4

Question Number : 3 Question Id : 87827025556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018  fAftq el i wen & a au A qorn A fre wawd 9fg g R 7
(1) 385 %

(2) 285 %
(3) 485 %
(4) 4%
Options :
878270100849. 1
878270100850. 2
878270100851. 3
878270100852. 4

Question Number : 4 Question Id : 87827025557 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100853. 1
878270100854. 2
878270100855. 3
878270100856. 4

Question Number : 5 Question Id : 87827025558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100857. 1
878270100858. 2
878270100859. 3
878270100860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701114

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 87827025559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3) Book creator
(4) Plotagon
Options :
878270100861 1
878270100862, 2
878270100863. 3

878270100864. 4

Question Number : 6 Question Id : 87827025559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100861. 1



878270100862. 2
878270100863. 3

878270100864. 4

Question Number : 7 Question Id : 87827025560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

)
3)  Statement I is correct but Statement IT is incorrect
4

(2) Both Statement I and Statement II are incorrect

(

(4)  Statement I is incorrect but Statement II is correct
Options :

878270100865. 1

878270100866. 2

878270100867. 3

878270100868. 4

Question Number : 7 Question Id : 87827025560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100865. 1
878270100866. 2
878270100867. 3
878270100868. 4

Question Number : 8 Question Id : 87827025561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

878270100869. 1
878270100870. 2
878270100871. 3
878270100872. 4

Question Number : 8 Question Id : 87827025561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701008609. 1

878270100870. 2

878270100871. 3
878270100872. 4

Question Number : 9 Question Id : 87827025562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) TFishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



878270100873. 1
878270100874. 2
878270100875. 3

878270100876. 4

Question Number : 9 Question Id : 87827025562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100873. 1
878270100874. 2
878270100875. 3

878270100876. 4

Question Number : 10 Question Id : 87827025563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

D) Schuman’s Model

(

(

(C) Jerome Bruner's Model

(

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only
) (B), (C) and (D) Only
(4) (A), (C) and (E) Only
Options:

878270100877. 1
878270100878. 2
878270100879. 3
878270100880. 4

Question Number : 10 Question Id : 87827025563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100877. 1
878270100878. 2
878270100879. 3

878270100880. 4

Question Number : 11 Question Id : 87827025564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

(
3
4

] Both Statement I and Statement II are incorrect
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

878270100881. 1
878270100882. 2
878270100883. 3

878270100884. 4

Question Number : 11 Question Id : 87827025564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100881. 1
878270100882. 2
878270100883. 3

878270100884. 4

Question Number : 12 Question Id : 87827025565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

878270100885. 1
878270100886. 2
878270100887. 3

878270100888. 4

Question Number : 12 Question Id : 87827025565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100885. 1
878270100886. 2
878270100887. 3
878270100888. 4

Question Number : 13 Question Id : 87827025566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

878270100889. 1
878270100890. 2
878270100891. 3
878270100892. 4

Question Number : 13 Question Id : 87827025566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100889. 1
878270100890. 2
878270100891. 3
878270100892. 4

Question Number : 14 Question Id : 87827025567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling

(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
878270100893. 1
878270100894 2
878270100895. 3

878270100896. 4

Question Number : 14 Question Id : 87827025567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100893. 1
878270100894. 2
878270100895. 3
878270100896. 4

Question Number : 15 Question Id : 87827025568 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

3

(4

) Both Statement I and Statement II are incorrect
) Statement I is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options :

878270100897. 1
878270100898. 2
878270100899. 3
878270100900. 4

Question Number : 15 Question Id : 87827025568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100897. 1
878270100898. 2
878270100899. 3
878270100900. 4

Question Number : 16 Question Id : 87827025569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments

Options :
878270100901. 1
878270100902. 2



878270100903. 3

878270100904. 4

Question Number : 16 Question Id : 87827025569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270100901. 1
878270100902. 2

878270100903. 3

878270100904. 4

Question Number : 17 Question Id : 87827025570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
878270100905. 1

878270100906. 2



878270100907. 3
878270100908. 4

Question Number : 17 Question Id : 87827025570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100905. 1
878270100906. 2
878270100907. 3

878270100908. 4

Question Number : 18 Question Id : 87827025571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

878270100909. 1
878270100910. 2
878270100911. 3

878270100912. 4

Question Number : 18 Question Id : 87827025571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100909. 1
878270100910. 2
878270100911. 3

878270100912. 4

Question Number : 19 Question Id : 87827025572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

878270100913. 1
878270100914. 2
878270100915. 3
878270100916. 4

Question Number : 19 Question Id : 87827025572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@ o feu g

HO (1) : I feriod el <1 e Rl € iR S 3 o g R R
KU (1) : Ao TR o forseqm) i wifier 5wl 41 fadhy wea ¢ 9ok €
T e o it W, el feu U el 9 Warw UG F A A I
(1) FOAT S0 FOR 1S 7 2

(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



878270100913. 1
878270100914. 2
878270100915. 3

878270100916. 4

Question Number : 20 Question Id : 87827025573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

878270100917. 1
878270100918. 2
878270100919. 3

878270100920. 4

Question Number : 20 Question Id : 87827025573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

878270100917. 1
878270100918. 2
878270100919. 3

878270100920. 4

Question Number : 21 Question Id : 87827025574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

878270100921. 1
878270100922. 2
878270100923. 3
878270100924. 4

Question Number : 21 Question Id : 87827025574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

878270100921. 1
878270100922. 2
878270100923. 3
878270100924. 4

Question Number : 22 Question Id : 87827025575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

878270100925. 1
878270100926. 2
878270100927. 3

878270100928. 4

Question Number : 22 Question Id : 87827025575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
878270100925. 1
878270100926. 2
878270100927. 3

878270100928. 4

Question Number : 23 Question Id : 87827025576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
(3) 5:4
( 1

2 1 O

4
Options :

878270100929. 1
878270100930. 2
878270100931. 3

878270100932. 4

Question Number : 23 Question Id : 87827025576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e T 24 (1 & ) ) o Tk 70 2 2.0 0 €1 3766 e o1 79 5:3 21 e ol & o
S-S0 7 1 O 40 % 920 % 5P R 8 ) IR 9 4 9 N €7

1) 3:
Q) 5
3

4

5T B R |

o

)
) 54
)

e B & 5 |

Options :

878270100929. 1
878270100930. 2
878270100931. 3

878270100932. 4

Question Number : 24 Question Id : 87827025577 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

878270100933. 1
878270100934. 2
878270100935. 3

878270100936. 4

Question Number : 24 Question Id : 87827025577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘wigfie’ @ ‘gea’ & foau 1 | 2§72

(1) @,
(2) <, 4
(3) A
(4) @, @
Options :

878270100933. 1
878270100934. 2
878270100935. 3

878270100936. 4

Question Number : 25 Question Id : 87827025578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

878270100937. 1
878270100938. 2
878270100939. 3
878270100940. 4



Question Number : 25 Question Id : 87827025578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

= sier SjEen § 376 Ug hiF 91§ 7
3,14, 39, 84, ?, - -

(1) 176
(2) 155
(3) 142
(4) 186

Options :

878270100937. 1
878270100938. 2
878270100939. 3
878270100940. 4

Question Number : 26 Question Id : 87827025579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?

(1) Cow, bovine, mammal, vertebrate, animal

2)  Mammal, Vertebrate, bovine, amimal, cow

(2)
(3) Vertebrate, animal, mammal, bovine, cow
(4)

Animal, Vertebrate, mammal, bovine, cow
Options:

878270100941. 1

878270100942. 2

878270100943. 3

878270100944. 4



Question Number : 26 Question Id : 87827025579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frreferfen o 9 M 91 AR (e gU) T % SHe | iR 2
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
878270100941. 1
878270100942. 2
878270100943. 3

878270100944. 4

Question Number : 27 Question Id : 87827025580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
(4) Statement Iis incorrect but Statement I is correct

Options:



878270100945. 1
878270100946. 2
878270100947. 3

878270100948. 4

Question Number : 27 Question Id : 87827025580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
1) HUI R W I SH 08

2) O I SR O 11 S e ¢

3) HUTIWEI &, cifeh Y 11 Terd &

4) HYTITRH ¢, W Ho 11 H &

(
(
(
(
Options :

878270100945, 1
878270100946. 2

878270100947. 3

878270100948. 4

Question Number : 28 Question Id : 87827025581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

878270100949. 1
878270100950. 2
878270100951. 3

878270100952. 4

Question Number : 28 Question Id : 87827025581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

878270100949. 1
878270100950. 2
878270100951. 3
878270100952. 4

Question Number : 29 Question Id : 87827025582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

) Both Statement I and Statement II are incorrect
3)  Statement [ is correct but Statement I1 is incorrect
)

(
(
4

Statement I is incorrect but Statement II is correct
Options :

878270100953. 1

878270100954 2

878270100955. 3

878270100956. 4

Question Number : 29 Question Id : 87827025582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
Wﬁﬂ:ﬁﬂ@ﬂfﬂ%ﬁl

O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

878270100953. 1
878270100954. 2
878270100955. 3
878270100956. 4

Question Number : 30 Question Id : 87827025583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

878270100957. 1
878270100958. 2
878270100959. 3
878270100960. 4

Question Number : 30 Question Id : 87827025583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At 3 e feu MU g

®UF (1) : AHEH 2§ A vt g €

oM (1) : SIS e H vy 2 €|

IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC

(1) eI S et 11 3 T &
(2) o1 SR B 11 G Terd ¢
(3) YRR 2, elfer B 11 7erd ¢
(4) IR &, i Fo I H &
Options :

878270100957. 1
878270100958. 2
878270100959. 3

878270100960. 4

Question Number : 31 Question Id : 87827025584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

878270100961. 1
878270100962. 2
878270100963. 3

878270100964. 4

Question Number : 31 Question Id : 87827025584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T 3] U L)
() TER a0 T

(3) T SRS R
(4) T T FRATTT
Options :
878270100961. 1
878270100962. 2
878270100963. 3
878270100964. 4

Question Number : 32 Question Id : 87827025585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

878270100965. 1
878270100966. 2
878270100967. 3
878270100968. 4

Question Number : 32 Question Id : 87827025585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100965. 1
878270100966. 2
878270100967. 3

878270100968. 4

Question Number : 33 Question Id : 87827025586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

878270100969. 1
878270100970. 2
878270100971. 3
878270100972. 4

Question Number : 33 Question Id : 87827025586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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eirRai g freffd &1 e 21
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Options :

878270100969. 1
878270100970. 2
878270100971. 3

878270100972. 4

Question Number : 34 Question Id : 87827025587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
878270100973. 1
878270100974. 2
878270100975. 3
878270100976. 4

Question Number : 34 Question Id : 87827025587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (4) (C) 3 (0

() B) 4 (5

() 4 (B), () 4 ()

() ¥ (4) 9 (Q

Options:

(
(
(
(

878270100973. 1
878270100974. 2
878270100975. 3

878270100976. 4

Question Number : 35 Question Id : 87827025588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

878270100977. 1
878270100978. 2
878270100979. 3

878270100980. 4

Question Number : 35 Question Id : 87827025588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

878270100977. 1
878270100978. 2
878270100979. 3

878270100980. 4

Question Number : 36 Question Id : 87827025589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

878270100981. 1
878270100982. 2
878270100983. 3
878270100984. 4

Question Number : 36 Question Id : 87827025589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100981. 1
878270100982. 2
878270100983. 3

878270100984. 4

Question Number : 37 Question Id : 87827025590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct
2

3
4

Both Statement I and Statement II are incorrect

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

(
(
(
Options:

878270100985. 1
878270100986. 2
878270100987. 3

878270100988. 4

Question Number : 37 Question Id : 87827025590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100985. 1
878270100986. 2
878270100987. 3

878270100988. 4

Question Number : 38 Question Id : 87827025591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

878270100989. 1
878270100990. 2
878270100991. 3
878270100992. 4

Question Number : 38 Question Id : 87827025591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100989. 1

878270100990. 2

878270100991. 3

878270100992. 4

Question Number : 39 Question Id : 87827025592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

878270100993. 1

878270100994 2

878270100995. 3

87827010099%6. 4

Question Number : 39 Question Id : 87827025592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafed 9 9 forg 19 =1 AR afveas v | Faifues € 2
(1) FARREEA (9 T )
(2) e (CH,)
(3) HOHL T FANEE (SF)
(4) FHEA SEAFES (CO,)
Options :
878270100993. 1
878270100994. 2

878270100995. 3

878270100996. 4

Question Number : 40 Question Id : 87827025593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl
(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

878270100997. 1
878270100998. 2
878270100999. 3

878270101000. 4

Question Number : 40 Question Id : 87827025593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100997. 1
878270100998. 2
878270100999. 3
878270101000. 4

Question Number : 41 Question Id : 87827025594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1) Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

878270101001. 1



878270101002. 2
878270101003. 3

878270101004. 4

Question Number : 41 Question Id : 87827025594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101001. 1
878270101002. 2
878270101003. 3
878270101004. 4

Question Number : 42 Question Id : 87827025595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

878270101005. 1



878270101006. 2
878270101007. 3

878270101008. 4

Question Number : 42 Question Id : 87827025595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270101005. 1
878270101006. 2

878270101007. 3
878270101008. 4

Question Number : 43 Question Id : 87827025596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270101009. 1
878270101010. 2
878270101011. 3

878270101012. 4

Question Number : 43 Question Id : 87827025596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) A (B), (C) ¥ (D)
(3) A (), (D) ¥ (B)
(4) A (A), (B) 4 (B)
Options :
878270101009. 1
878270101010. 2

878270101011. 3

878270101012. 4

Question Number : 44 Question Id : 87827025597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

878270101013. 1
878270101014. 2
878270101015. 3

878270101016. 4

Question Number : 44 Question Id : 87827025597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270101013. 1
878270101014. 2
878270101015. 3

878270101016. 4

Question Number : 45 Question Id : 87827025598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

878270101017. 1
878270101018. 2
878270101019. 3

878270101020. 4

Question Number : 45 Question Id : 87827025598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101017. 1
878270101018. 2
878270101019. 3
878270101020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701115
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025599 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827025600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
878270101021. 1
878270101022. 2
878270101023. 3

878270101024. 4

Question Number : 47 Question Id : 87827025601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
878270101025. 1
878270101026. 2

878270101027. 3



878270101028. 4

Question Number : 48 Question Id : 87827025602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only

) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

878270101029. 1
878270101030. 2
878270101031. 3

878270101032. 4

Question Number : 49 Question Id : 87827025603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
“This historic voyage” refers to :
(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

878270101033. 1
878270101034. 2
878270101035. 3
878270101036. 4

Question Number : 50 Question Id : 87827025604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : MV Ganga Vilas is an environment friendly vessel.
Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I s correct but Statement I 15 incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II 1s correct
Options :

878270101037. 1

878270101038. 2

878270101039. 3

878270101040. 4

Question Id : 87827025599 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827025600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RA <1 & Hag § f7 ° | a-n wel € 2

(A) FE U1 Gt forraa a1 HL&T &l &I & |
(B) € Hpfadl § rafad ¢

(C) =9 ¥l i fafaea =& €

(D) e Ufqerass geuii #1 W |

== fou U faedl § 9 WEr 3¢ 1 95949 Fif9u
(1) %ad (A), (B) 3R ()

(2) aa@ (C) IR (D)
(3) A (A) I (C)
(4) I (B) 3 (D)



Options :

878270101021. 1
878270101022. 2
878270101023. 3

878270101024. 4

Question Number : 47 Question Id : 87827025601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
uq &t 7 faems & aR § fre foeedl | I % a wE § 2
(1) 38 U qded Td ¢ |
(2) 3EA EER | = I R
(3) ¥ fava =1 ged e 41 faRr 21
(4) 8 27 feai | o 32,000 foR.Ht. 1 g 7+
Options :
878270101025. 1
878270101026. 2

878270101027. 3

878270101028. 4

Question Number : 48 Question Id : 87827025602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101029. 1

878270101030. 2

878270101031. 3

878270101032. 4

Question Number : 49 Question Id : 87827025603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101033. 1

878270101034. 2



878270101035. 3

878270101036. 4

Question Number : 50 Question Id : 87827025604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101037. 1
878270101038. 2
878270101039. 3

878270101040. 4

Museology and Conservation

Section Id : 878270739
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701116
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827025605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What does ‘Pinakotheke” in Greek mean?
(1) A collection of stamps

(2) A collection of paintings on planks
(3) A collection of manuscripts
(4) A collection of coins

Options :

878270101041. 1

878270101042. 2

878270101043 3

878270101044. 4

Question Number : 51 Question Id : 87827025605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) Too=i 197
Options :

878270101041. 1
878270101042. 2
878270101043. 3

878270101044. 4

Question Number : 52 Question Id : 87827025606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which professional museum organisation developed the Museum Accreditation Programme?
(I) Museums Association (MA)

(2) American Association of Museums (AAM)

(3) International Council of Museums (ICOM)

(4)  Museums Association of India (MAI)

Options :

878270101045. 1
878270101046. 2
878270101047. 3
878270101048. 4

Question Number : 52 Question Id : 87827025606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101045. 1

878270101046. 2

878270101047. 3

878270101048. 4

Question Number : 53 Question Id : 87827025607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which international committee of ICOM deals with training of Museum Personnel?
(1) CIDOC

) CECA

) ICOM-CC
)

4) ICTOP

(3
Options :

878270101049. 1
878270101050. 2
878270101051. 3

878270101052. 4

Question Number : 53 Question Id : 87827025607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ¥ &% & & (CIpog)

(2) # 3T (CECA)

(3) mEEE-H E (ICOM-CQ)

(4) o § 3 & b (ICTOP)

Options:

878270101049. 1
878270101050. 2
878270101051. 3

878270101052. 4

Question Number : 54 Question Id : 87827025608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who introduced the use of arsenic paste in taxidermy in museums?
(1) Charles Wilson Peale

(2) Astur Hazelius
(3) Carl E. Gupta

(4) John Cotton Dana
Options :

878270101053. 1
878270101054 2
878270101055. 3

878270101056. 4

Question Number : 54 Question Id : 87827025608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101053. 1
878270101054. 2
878270101055. 3

878270101056. 4

Question Number : 55 Question Id : 87827025609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following is true with an item acquired through fieldwork?

(1) Items of valuable heritage can be acquired without authorization from conflict zones

(2) Collecting objects from damaged and destroyed natural, historic, cultural and social contexts
is acceptable

(3) Fieldwork is a very suitable method to acquire works of contemporary and modern art
(4)  Museum can acquire an object not ethically sourced if there is an exceptionally strong reason

for acquiring it in the opinion of a range of experts
Options :
878270101057. 1
878270101058. 2
878270101059. 3
878270101060. 4

Question Number : 55 Question Id : 87827025609 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101057. 1

878270101058. 2

878270101059. 3

878270101060. 4

Question Number : 56 Question Id : 87827025610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is true about Condition Report ?

(1) The least useful point for a condition report is a standardized document that promote staff to
collect the same information each time the report is made

(2) Condition Report should not have a glossary of descriptive useful terms

(3) Condition Report is a document composed of a written and visual description of an object’s
appearance, state of preservation and any defects at a particular point of time

(4)  To do detail description of the condition of an object-force open anything that may be closed
or folded

Options :
878270101061. 1
878270101062. 2

878270101063. 3



878270101064. 4

Question Number : 56 Question Id : 87827025610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101061. 1
878270101062. 2
878270101063. 3

878270101064. 4

Question Number : 57 Question Id : 87827025611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct statement about collection management policy?

(1) Code of Ethics has a bearing on developing a collection management policy.

(2) Collection management procedures should not be in tandem with the collection management
policy.

(3) Collection management procedures are least useful to provide consistency of action when
formalised into a written document,

(4) Collection management policy does not serve as a practical guide for museum staff and

public document explaining how the museum takes responsibility for the collection in its
care.

Options:

878270101065. 1
878270101066. 2
878270101067. 3

878270101068. 4

Question Number : 57 Question Id : 87827025611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101065. 1
878270101066. 2
878270101067. 3

878270101068. 4



Question Number : 58 Question Id : 87827025612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is true about scope of collection?
(1) Not every museum or collecting institution requires a scope of collection statement.

(2) Scope of collection is a stand alone planning document that succintly defines the scope of
present and future museum collection holdings.

(3) A scope of collection statement is a permanent document never to be altered.
(4)  Scope of collection statement should never be derived from the museum mission, as well as

laws and regulations mandating the preservation of collection.
Options :
878270101069. 1
878270101070. 2
878270101071. 3

878270101072. 4

Question Number : 58 Question Id : 87827025612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101069. 1



878270101070. 2
878270101071. 3

878270101072. 4

Question Number : 59 Question Id : 87827025613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

n the accession number X1992.2.1, ‘X' represents:
The object was accessioned in 1992 but that the actual date of acquisition is unknown
First accession of 1992

Options :

878270101073. 1
878270101074. 2
878270101075. 3
878270101076. 4

Question Number : 59 Question Id : 87827025613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101073. 1



878270101074. 2
878270101075. 3

878270101076. 4

Question Number : 60 Question Id : 87827025614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Accession register is used only for objects entering:
(1) Permanent collections
(2) Temporary collections
(3) Borrowed collections
(4) Museum as potential gifts
Options :

878270101077. 1
878270101078. 2
878270101079. 3
878270101080. 4

Question Number : 60 Question Id : 87827025614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270101077. 1



878270101078. 2
878270101079. 3

878270101080. 4

Question Number : 61 Question Id : 87827025615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is used by the curator to record information about an article upon detailed
examination of the artifact?

(1) Classification card

(2) Condition Report
(3) Curator’s worksheet
(4)  Accession Register
Options :
878270101081. 1
878270101082. 2
878270101083. 3

878270101084. 4

Question Number : 61 Question Id : 87827025615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101081. 1
878270101082. 2
878270101083. 3

878270101084. 4

Question Number : 62 Question Id : 87827025616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The primary purpose of collection documentation is to ensure:

(1)  Accessibility to collections

(2) Management of collections

(3)  The permanent and individual identification of each item in the collection
(4) Preservation of collection

Options:
878270101085. 1
878270101086. 2

878270101087. 3

878270101088. 4

Question Number : 62 Question Id : 87827025616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101085. 1
878270101086. 2
878270101087. 3
878270101088. 4

Question Number : 63 Question Id : 87827025617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

A dynamic display in a museum consists of which of the following:
(1) Text and Labels

(2) Photographs

(3) Animated models

(4) Tableaux

Options:

878270101089. 1
878270101090. 2
878270101091. 3

878270101092. 4

Question Number : 63 Question Id : 87827025617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Hugrerd H Tfdeiiel feved | fr=fofead § 9 s @@ g2
(1) TR (TFR) AR oad



Options :

878270101089. 1
878270101090. 2
878270101091. 3

878270101092. 4

Question Number : 64 Question Id : 87827025618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Section Panel in a conventional exhibition:

(1) Explains the purpose of exhibition

(2) Gives background information on the object

(3) Gives basic information about individual objects
(4) Focuses on sub-theme of the exhibition

Options:

878270101093. 1

878270101094. 2

878270101095. 3

878270101096. 4

Question Number : 64 Question Id : 87827025618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101093. 1
878270101094. 2
878270101095. 3
878270101096. 4

Question Number : 65 Question Id : 87827025619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Exhibition brief is prepared by:
(1) Director

(2) Curator

(3) 3 D designer

(4) 2 D designer
Options:

878270101097. 1
878270101098. 2
878270101099. 3
878270101100. 4

Question Number : 65 Question Id : 87827025619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101097. 1
878270101098. 2
878270101099. 3
878270101100. 4

Question Number : 66 Question Id : 87827025620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

‘Block Buster” exhibition means:

(1) Cinematographic exhibition

(2) Permanent exhibition in a special blocks of a museum
(3) Revolutionary and powerful exhibition
(4)

4 Museum website for movie streaming

Options:

878270101101. 1
878270101102. 2
878270101103. 3

878270101104. 4

Question Number : 66 Question Id : 87827025620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101101. 1
878270101102. 2
878270101103. 3

878270101104. 4

Question Number : 67 Question Id : 87827025621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Learning in museums is:
(1) Coercive

(2) Incremental

(3) Learner-led

(4) Time-bound
Options :

878270101105. 1

878270101106. 2

878270101107. 3

878270101108. 4

Question Number : 67 Question Id : 87827025621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101105. 1
878270101106. 2
878270101107. 3
878270101108. 4

Question Number : 68 Question Id : 87827025622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following will benefit people with visual impairment in museums?
(1)  Print transcript of taped tours

(2) Fire alarm with flashing lights

(3) Maps showing seating in auditorium

(4) Tactile drawings of objects

Options:

878270101109. 1

878270101110. 2

878270101111. 3

878270101112. 4

Question Number : 68 Question Id : 87827025622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101109. 1
878270101110. 2
878270101111.3

878270101112. 4

Question Number : 69 Question Id : 87827025623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following can be a personal barrier to participate in learning opportunities offered

by a museum?
(1) Cost

(2) Lack of publicity
(3) Lack of motivation

(4)  Use of technical language
Options:
878270101113. 1
878270101114. 2
878270101115. 3

878270101116. 4

Question Number : 69 Question Id : 87827025623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

r— el | et

878270101113. 1
878270101114. 2
878270101115. 3
878270101116. 4

Question Number : 70 Question Id : 87827025624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The implication of ‘Constructivism’ in museums is:

(1) Museums have to focus on the learner in thinking about learning
(2) Museums have to focus on the subject to be taught
(3) Learning is understanding the true nature of things
(4) Learning is remembering perceived ideas

Options :

878270101117. 1

878270101118 2

878270101119. 3

878270101120. 4

Question Number : 70 Question Id : 87827025624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270101117. 1

878270101118. 2

878270101119. 3

878270101120. 4

Question Number : 71 Question Id : 87827025625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Maximum recommended light level for display of an oil painting is:
(1) 550 lux

(2) 150 lux
(3) 450 lux
(4) 250 lux

Options :

878270101121. 1
878270101122. 2
878270101123. 3

878270101124. 4

Question Number : 71 Question Id : 87827025625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270101121. 1
878270101122. 2
878270101123. 3

878270101124. 4

Question Number : 72 Question Id : 87827025626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Which of the following is a corrosion product of copper?
(1) Hematite
(2) White lead
(3) Azurite
(4) Whewellite
Options :
878270101125. 1
878270101126. 2
878270101127. 3

878270101128. 4

Question Number : 72 Question Id : 87827025626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270101125. 1
878270101126. 2
878270101127. 3

878270101128. 4

Question Number : 73 Question Id : 87827025627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Treatment of Bronze disease involves removal of:

(1) Sulphate ions
2

=

(2) Chloride ions
(3) Nitrate ions
(4) Oxalate ions
Options :

878270101129. 1
878270101130. 2
878270101131. 3

878270101132. 4

Question Number : 73 Question Id : 87827025627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270101129. 1
878270101130. 2
878270101131. 3

878270101132. 4

Question Number : 74 Question Id : 87827025628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following reagent is used with calcium bicarbonate for aqueous deacidification of
paper?

(1) Sodium hydroxide

(2) Barium hydroxide

(3) Magnesium hydroxide

(4) Calcium hydroxide

Options :

878270101133. 1
878270101134. 2
878270101135. 3

878270101136. 4

Question Number : 74 Question Id : 87827025628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101133. 1
878270101134. 2
878270101135. 3
878270101136. 4

Question Number : 75 Question Id : 87827025629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Water extinguishers are used to extinguish fires in:
(1) Oils and Paints

(2) Metals like magnesium

(3) Electrical equipment

(4) Wood, paper and textile

Options :

878270101137. 1

878270101138 2

878270101139. 3

878270101140. 4

Question Number : 75 Question Id : 87827025629 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101137.1
878270101138. 2
878270101139. 3

878270101140. 4

Question Number : 76 Question Id : 87827025630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[mage Permanence Institute of America has categorised room temperature for storage of items
nto:

(1
2
3
(4) 3 Categories

) 4 Categories
) 2 Categories
) 3 Categories
)

Options:

878270101141.1
878270101142. 2
878270101143. 3

878270101144. 4



Question Number : 76 Question Id : 87827025630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101141. 1
878270101142. 2
878270101143. 3

878270101144. 4

Question Number : 77 Question Id : 87827025631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Broken glass pieces are joined using the following adhesive:
(1) Gelatine

(2) Silane

(3) Hextal NY

(4) Shellac

Options :

878270101145. 1
878270101146. 2
878270101147.3

878270101148. 4



Question Number : 77 Question Id : 87827025631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101145. 1

878270101146. 2

878270101147.3

878270101148. 4

Question Number : 78 Question Id : 87827025632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Phenomenon of silver reacting with Hydrogen sulphide gas is commonly termed as:
(1) Corrosion

(2) Galvanizing
(3) Tarnishing
(4) Silver plating
Options :
878270101149. 1
878270101150. 2
878270101151. 3

878270101152. 4



Question Number : 78 Question Id : 87827025632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TSI WS T o Ty =) it afufsran i uftee i W 9 e 5w
(1) wemm

(2) e TG

(3) i (o)

(4) S T T

Options :

878270101149. 1

878270101150. 2

878270101151. 3

878270101152. 4

Question Number : 79 Question Id : 87827025633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following organisation was established for “the increase and diffusion of knowledge"?
(1) Metropolitan Museum of Art, New York
2)  Smithsonian Institution, Waslungton DC

2)
(3) Philadelphia Museum, Philadelphia
(4)  American Museum of National History, New York

Options :

878270101153. 1
878270101154. 2
878270101155. 3

878270101156. 4



Question Number : 79 Question Id : 87827025633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafed § 9 1 € 757 #1 '9A § 9fg R yom' & forw wenfi fopn o o ?

Options :

878270101153. 1
878270101154. 2
878270101155. 3

878270101156. 4

Question Number : 80 Question Id : 87827025634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Ministry of Culture, Government of India does not give grants to museums under the Museum
Grant Scheme for the purpose of:

(1) Purchase of equipment

(2) Installation of roof top solar system
(3)  Acquisition of art objects
(4)  Conservation projects
Options :

878270101157. 1
878270101158. 2
878270101159. 3

878270101160. 4



Question Number : 80 Question Id : 87827025634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T T, ST R, ST 6] S S Wi & S e YA o ot s
T2 e?

Options :

878270101157. 1
878270101158. 2
878270101159. 3
878270101160. 4

Question Number : 81 Question Id : 87827025635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is done during a disaster due to fire in a museum?
(1) Call in professional conservation
Evacuate men and material

(3) Train staft
(4) Prepare disaster plan
Options:

878270101161. 1
878270101162. 2

878270101163. 3



878270101164. 4

Question Number : 81 Question Id : 87827025635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ferell HorRIera H S E o e forell a1 % v et 5 § o0 foren 7 &7
(1) T9eR GRERRiet hl el

(2) AR S I ] SR FATer
OREREIRIER L
(4)

Options :

878270101161. 1
878270101162. 2
878270101163. 3

878270101164. 4

Question Number : 82 Question Id : 87827025636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The approach to strategic analysis which seeks to relate the internal situation in the museum with
its external strategic context is called:

(1) Risk analysis
(2) Market analysis
(3) Business analysis
(4) SWOT analysis

Options :
878270101165. 1

878270101166. 2



878270101167. 3

878270101168. 4

Question Number : 82 Question Id : 87827025636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui feerool 1 9 S, FoRve Seqva WTRierd W afefih it o1 ek o el & e €, 70
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)
)
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4) @ fowm

Options :

(
(
(
(

878270101165. 1
878270101166. 2
878270101167. 3

878270101168. 4

Question Number : 83 Question Id : 87827025637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A museum is charging different admission fee from different groups of the visitors, It is using/
doing:

(1) Product from pricing

(2) Image pricing

(3) Location Pricing

(4)  Customer segment pricing

Options :



878270101169. 1
878270101170. 2
878270101171. 3

878270101172. 4

Question Number : 83 Question Id : 87827025637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 T g & o TR & F-fom e e i R &1 S R TR
Y S ¢

(1) 3 e e

Options :

878270101169. 1
878270101170. 2
878270101171.3

878270101172. 4

Question Number : 84 Question Id : 87827025638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is a Media Relations activity?
(1) Newspaper ads

(2) Posters

(3) Presskits

(4) Billboards



Options :

878270101173. 1
878270101174. 2
878270101175. 3

878270101176. 4

Question Number : 84 Question Id : 87827025638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fafean day e f=fafead 4 9 s @18 ?
(1) FHER 9= foqm=

(2) TRH
(3) U9 fehe
(4) TR
Options :

878270101173. 1
878270101174. 2
878270101175. 3

878270101176. 4

Question Number : 85 Question Id : 87827025639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following nonowhership frameworks relates to museums?
(1) Defined space and place rentals

(2
(3
(4

) Access to shared physical environment
) Access to and usage of systems and networks
) Rented goods services



Options :

878270101177.1
878270101178. 2
878270101179. 3
878270101180. 4

Question Number : 85 Question Id : 87827025639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frefafed o 9 & 9 -y 2= 9uged 9 Heftd 8 2
(1)  Tortra =1 aftenford &= (F09) qen =4
(2) ETE sifeR AATERT T ST
(3) ST TS 2ok 1 IUART AR ST
(4) formma ot aqHaTd
Options :
878270101177.1
878270101178. 2

878270101179. 3

878270101180. 4

Question Number : 86 Question Id : 87827025640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A museum is adding miniature paintings to its already existing collection of miniature paintings. It
i§ pursuing:

(1) The depth of a product item

(2) The length of a product line

(3)  The consistency of the product mix
(4)  The width of the product mix
Options:

878270101181. 1
878270101182. 2
878270101183. 3

878270101184. 4

Question Number : 86 Question Id : 87827025640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forel worater H ol W e ergfel o 6% H el ol Siel 31 9% Ve el @
(1) T 7 e

(2) U 1@ H AR

(3) 3 g 1 e
(4) e g ot e

Options :

878270101181. 1
878270101182. 2
878270101183. 3

878270101184. 4

Question Number : 87 Question Id : 87827025641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

“Person with severe disability” means a person with:
(1) Hundred percent of equal disability

(2) Ninety five percent or more disabilities

(3) Ninety percent or more of one or more disabilities
(4) Eighty percent or more of one or more disabilities

Options :

878270101185. 1
878270101186. 2
878270101187. 3

878270101188. 4

Question Number : 87 Question Id : 87827025641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“ sreaferen feeaiman aren =afem ' &1 219 T i =t € S
(1) 5t yfaem =1 9oy fesgi &
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Options :

878270101185. 1
878270101186. 2
878270101187. 3

878270101188. 4

Question Number : 88 Question Id : 87827025642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Animal article means an article made in part or whole from any:
(1) Captive animal

(2) Wild animal

(3) Captive animal or wild animal

(4) Captive animal or wild animal, other than vermins
Options :

878270101189. 1

878270101190. 2

878270101191. 3

878270101192. 4

Question Number : 88 Question Id : 87827025642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el & ol A it gl o e anfos o1 vl o ) i 9 fo o o ©2
1) @ W

Q) ST

(3) a4 T Sl Y

(4) 0 5 B, e ) 71 el
Options :

878270101189. 1
878270101190. 2
878270101191. 3

878270101192. 4

Question Number : 89 Question Id : 87827025643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Any tumulus or place of interment refers to:

(1) Ancient Monument
(2) Archaeological site
(3) Remains

(4) Art Treasure
Options :

878270101193. 1

878270101194 2

878270101195. 3

878270101196. 4

Question Number : 89 Question Id : 87827025643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foRdl &9 o1 SFAM o TE 9 a9 §
(1) 9= SRR

(2) TUdS &

(3) R

(4) el HIY

Options :

878270101193. 1
878270101194. 2
878270101195. 3

878270101196. 4

Question Number : 90 Question Id : 87827025644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Mandatory contribution of states parties to the ‘Tntangible Cultural Heritage Fund” includes:

(1) Any supplementary voluntary contributors
)

.

(2) Pay to the fund at least every two years
(3) Make contributions
)

4) A uniform percentage applicable to all states, as determined by the general assembly

Options :

878270101197. 1
878270101198. 2
878270101199. 3

878270101200. 4

Question Number : 90 Question Id : 87827025644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101197. 1
878270101198. 2
878270101199. 3

878270101200. 4

Question Number : 91 Question Id : 87827025645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Dr. Grace L. McCann Morley was associated with:
A) San Francisco Museum of Art

(
(B) National Museum, New Delhi
(C) Museums Division, UNESCO
(D) Buffalo Museum of Science

(E) Philadelphia Museum of Art

Choose the correct answer from the options given below:
(1) (D), (B) and (E) Only

(2) (A), (B) and (E) Only
(3) (A), (B)and (

(4) (

Options :

878270101201. 1
878270101202. 2
878270101203. 3

878270101204. 4

Question Number : 91 Question Id : 87827025645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(3) Fad (A), (B) 3R (C)
(4) e (B), (C) 3R (E)
Options :

878270101201. 1
878270101202. 2
878270101203. 3

878270101204. 4

Question Number : 92 Question Id : 87827025646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The founding of which of the following museums in about 1870 marked the entry of the United
States into the museum mamstream,
) Metropolitan Museum of Art, New York

B)  Museum of Fine Arts, Boston

D) Philadelphia Museum of Art, Philadelphia

) Museum of Modern Art, New York
Choose the correct answer from the options given below:
(1) (4), () and (B) Only
} (D), (C) and (A) Only
) (A), (B)and () Only
) (O, (B) and (D) Onl

(A
(
(C) American Museum of Natural History, New York
(
(E

2
3
(4
Options :
878270101205. 1
878270101206. 2
878270101207. 3

878270101208. 4

Question Number : 92 Question Id : 87827025646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270101205. 1
878270101206. 2
878270101207. 3

878270101208. 4

Question Number : 93 Question Id : 87827025647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct in the context of the foundation of the Ashmolean Museum at
the Oxford University?

(A) A new building was constructed

(B)  The collection was donated by John Tradescant the elder

(C) The collection was composed chiefly of natural history specimens with little art
(D) The collection was composed chiefly of archaeological and anthropological objects
Choose the correct answer from the options given below :

(1) (4)and (D) Only

2 ()&nd()om}f
() (B)and (C) Onl

(4 (&)and (C) Onl
Options:

878270101209. 1
878270101210. 2
878270101211. 3

878270101212. 4

Question Number : 93 Question Id : 87827025647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101209. 1
878270101210. 2
878270101211.3
878270101212. 4

Question Number : 94 Question Id : 87827025648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Disposal is the act of physically removing deaccessioned objects from the museum collection and
relocating them elsewhere. Disposal option may include:

(A) Transfer to other museum or similar institutions
(B) Physical destruction of deteriorated objects

(C) Return to the donar or legal heirs if any of the object was donated or bequeathed subject to
terms and conditions of it

(D) Giveitonalong term loan to an exhibition

(E) Sellit to an art dealer or auction house

Choose the correct answer from the options given below:
v ()()()(D)fmd(E)

(2) (B),(C) and (D) Onl
(3) () (D) and (£) Onl
() (4)and ()Oﬂly
Options:
878270101213. 1
878270101214. 2
878270101215. 3

878270101216. 4

Question Number : 94 Question Id : 87827025648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101213. 1

878270101214. 2

878270101215. 3

878270101216. 4

Question Number : 95 Question Id : 87827025649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following choice best represents a comprehensive approach to Risk Management at
museums?

(A) Gather information about the security measures in museum

(B) Identify threats to collection, and the ongoing operation at museum
(C) Plan to manage the risk through control measures

(D) Avoid display of high value exhibition

(E) Monitor and review control measures

Choose the correct answer from the options given below:
(1) (&), () ©) 0 and (E)

(2 (B), (€], (D)and (E) Only
(3) (&) (B), (C) and (E) Only
(4)  (A) (B) (D) and (F) Only
Options :

878270101217. 1
878270101218. 2
878270101219. 3

878270101220. 4

Question Number : 95 Question Id : 87827025649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270101217. 1
878270101218. 2
878270101219. 3

878270101220. 4

Question Number : 96 Question Id : 87827025650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the benefits of implementing storage solution at a museum?
A) Protect and preserve the collection

B) Make collections inaccessible

(
(
(C) Allow and facilitate better collection management
(D) Ensure periodic efficient inventory check

(

E) Support preventive conservation
Choose the correct answer from the options given below:
(1) (A), (B), (©), (D) Only

Options:

878270101221.1
878270101222. 2
878270101223. 3

878270101224. 4

Question Number : 96 Question Id : 87827025650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ferdft ToreTeT B YU THIMMT ol Hrifad i o o N I § 2
(A) HIE T HE SR IR

(B) TUE ! Ugd & aEL Al

(C) HUE ol &&d Ja 5 gl

(D) F9F T W Friem a5 et <ira giifead g

(E) THeme deem 4 wemd

A fou 7w faeregi | § Wel I k1 =95 il :

(1
(2
(3
(

m

)
)
)
4)
Options:

878270101221.1
878270101222. 2
878270101223. 3

878270101224. 4

Question Number : 97 Question Id : 87827025651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct for a three part Accession number?
A)  Should be shown on an object

(
(B) Avoid abbreviating the year to two digits

(C) The same number should never be assigned to two objects

(D) Method of application of accession number should be the same for all kinds of objects
(E) The position of the year within the accession number should not alter

Choose the correct answer from the options given below:

(1) (&) (3) ©) 0) Only

(2) (8),(C), (D), (E) Only
) (A) (C), (D), (E) Only
(4) (&), (B), (C), (E) Only
Options:

878270101225. 1
878270101226. 2
878270101227. 3
878270101228. 4

Question Number : 97 Question Id : 87827025651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101225. 1

878270101226. 2

878270101227. 3

878270101228. 4

Question Number : 98 Question Id : 87827025652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cataloging museum objects involves gathering and recording information from:
(A) Physical observation

(B) Accession Records

(C) Associated documentation
(D) Subject matter specialist
Choose the correct answer from the options given below:
(1) (4), (B) () Only

2) () (O (D) Only

(3) (4).(©) (D) Only

(4) (), (B), (C) (D) Only
Options:

878270101229. 1
878270101230. 2
878270101231. 3
878270101232. 4

Question Number : 98 Question Id : 87827025652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101229. 1
878270101230. 2
878270101231. 3

878270101232. 4

Question Number : 99 Question Id : 87827025653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are intrinsic information about a stone sculpture?
A) Size of the sculpture

(

(B) Colour of the sculpture

(C) Year of making

(D) Previous owners

(E) Material of the sculpture

Choose the correct answer from the options given below:
(1) (4), (), (E) Only

2) ()()()Onlv
(3) (B), (D), (E) Onl

(4) (©, D) (E) Onl}’
Options:

878270101233. 1
878270101234. 2
878270101235. 3

878270101236. 4

Question Number : 99 Question Id : 87827025653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Hfdehen & HeH H iayfd e fFefatad § 9 $iF i 87
(A) Hfd %1 TR

(B) Hfd =1
(C)  Temior =1 a9
(D) Yo @l
(E) Hfd =T\t
T fou Tu fashedl § 9 W& 3T F T Hif
(1) & (A), (B), (E)
(2) T4 (A), (), (D)
(3) @ad (B), (D), (E)
(4) I (O), (D), (E)
Options :

878270101233. 1
878270101234. 2
878270101235. 3

878270101236. 4

Question Number : 100 Question Id : 87827025654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are done at the development and design phase of an exhibition?
A) Concept

(

(B) Interpretative planning
(C) Research

(D) Schematic design

(E) Installation

Choose the correct answer from the options given below:
(1) (A), (B), (), (D) Only

(2) (B)and (D) Only
(3) (A)and (C) Only
(4) (C) and (D) Only
Options:

878270101237. 1
878270101238. 2
878270101239. 3

878270101240. 4

Question Number : 100 Question Id : 87827025654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ﬁmﬁf&ﬁﬁﬂﬁﬁ%ﬂwﬁ%ﬁwﬁﬁﬁﬁm%wﬁmﬂﬁ%?

(A)

(B) arr@r%am

(C) WM

(D) FnFEg fese

(E) e

R fow o el WA SR 9 Ff
(1) %94 (A), (), (C), D)
() %3 (B) 4R (D)

(3) ad (A) 3 (C)
(4) ad () ¥R (D)
Options :

878270101237. 1
878270101238. 2
878270101239. 3

878270101240. 4

Question Number : 101 Question Id : 87827025655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Front-end analysis is used to assess:

(A) Misconception of the potential visitors

(B) Response of the actual visitors

(C) Interests and preferences of the potential visitors
(D) Satisfaction level of the actual visitors

Choose the correct answer from the options given below:
(1) (A) and (B) Only

(2) (B)and (C) Only
(3) (C) and (D) Only
(4) (A) and (C) Only
Options:

878270101241. 1
878270101242. 2
878270101243. 3

878270101244. 4

Question Number : 101 Question Id : 87827025655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The-Ug favetwor 1 SuanT fohadh 3neha & fou fowan s & 2
(A) Hrea SIS <l Tefd STEHR

(B) dmifersh TITTehl shi Ufdfsran

(C) G AR i ®EAl AR IHFAY

(D) ATk 3TFTehi ol Hqe &l &R

Fy fam o faeredi § & W@ IR T FIAC
(1) ad (A) 3R (B)

(2) 9 (B) ¥R (C)

(3) %ad (C) 3R (D)

(4) A (A) 3 (C)

Options :

878270101241. 1
878270101242. 2
878270101243. 3

878270101244. 4

Question Number : 102 Question Id : 87827025656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following activities appeal most age groups?
(A) Work sheets

(B) Drama

(C) Lectures

(D) Demonstration

Choose the correct answer from the options given below:
(1) (B) and (C) Only

(2) (A)and (C) Only

(3) (A) and (D) Only
(4) (

Options:

878270101245. 1
878270101246. 2
878270101247.3

878270101248. 4

Question Number : 102 Question Id : 87827025656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfiad o 9 7 § 1 ey Faifees S GO & el ol 3ol %% € 7
(A) FH T

(B) TS

(C) =M

(D) Y&HA

<y few T Faerea 4 W T T
(1) 9 (B) 4R (C)

(2) 9 (A) 9 (C)

(3) 9 (A) R (D)

(4) 9 (B) 3R (D)

Options :

878270101245. 1
878270101246. 2
878270101247.3
878270101248. 4

Question Number : 103 Question Id : 87827025657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Bodily Kinesthetic Intelligence is highly developed in:
A) Surgeons

(

(B) Teachers

(C) Poets

(D) Dancers

(E) Athletes

Choose the correct answer from the options given below:
(1) (A), (O and (D) Only

(2) (A), (D) and (E) Only
(3) (B), (O) and (D) Onl

(4) (A), (B) and (C) Onlv

— —

Options:

878270101249. 1
878270101250. 2
878270101251. 3
878270101252. 4

Question Number : 103 Question Id : 87827025657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o g Frfefan 5§ fril wetfees fomfa o 22

A) WA TafwHE®

(

(B) HA¥ATYSR

(C) wfd

(D) %

(E) Tdite

A fou v foredl 4 9 W@ SO 1 997 i ;
(1) %3 (A), (O) ¥R (D)
(2) 9T (A), (D) 3R (E)
(3) ad (B), (C) 3R (D)
(4) % (A), (B) 3R ()
Options :

878270101249. 1
878270101250. 2
878270101251. 3
878270101252. 4

Question Number : 104 Question Id : 87827025658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following educational theories share a common view of epistemology that knowledge
exists outside the learner?

(A) Didactic expository

(B) Stimulus Response

(C) Discovery

(D) Constructivism

Choose the correct answer from the options given below:
(1) (A)and (C Only

() (B)and () On

(3) (B)and D )Only
(4 (4) and (D) Onl
Options:

878270101253. 1
878270101254. 2
878270101255. 3

878270101256. 4

Question Number : 104 Question Id : 87827025658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



faeiffi 8 @A 4 Y fogi e o o g e e 0 € fo ‘9 afe &
TR R g !
(A) T, AT

B) W T

C) @

(D) fafeie

A1 fou o foaredl H 9 ) I T
(1) (4) & (C)

() (B) 4 ()

() (B) R (D)

(4 (A) ¥ D)

Options :

878270101253. 1
878270101254. 2
878270101255. 3

878270101256. 4

Question Number : 105 Question Id : 87827025659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following deterioration problems are observed in Bone and Ivory objects?
A) Insect holes

B) Fine cracks

D) Breakage

(

(

(C) Yellowing of surface
(

(E) Efflorescence

Choose the correct answer from the options given below:
(1) (A), (B) and (E) Only

(2) (B),(C)and (D) Only
(3) (B),(D)and (E) Only
(4) (A),(C) and (D) Only
Options:

878270101257. 1
878270101258. 2
878270101259. 3
878270101260. 4

Question Number : 105 Question Id : 87827025659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



31169 T 1o 3 1 gl H FAferfEd § 9 S i aR e gEl S ¢
(A) i fog

(B) F& W

(C) aﬂ%aﬂqﬁamﬁ

(D) @& (ge)

(E)
ﬁﬁqmﬁ%ﬁﬁﬁﬂémwwﬁm:
1
2
3
4

i3

o =

()
(2)
(%)
(4)
Options :

878270101257 1
878270101258. 2

878270101259. 3
878270101260. 4

Question Number : 106 Question Id : 87827025660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Variation of the tempreature and humidity results in following damages to glass plate photographic
images,

(A) Silver image decay
(B) Mold growth

(C) Glass deterioration
(D) Distortion of colours

(E) Layer separation

Choose the correct answer from the options given below:
(1) (4) (3)and (O Only

@) (4) ) (C)and (E)Only

(3) (B)(C)and (D )Onlv

(4) (C)(D)and ©) Oul

Options :

878270101261. 1
878270101262. 2
878270101263. 3

878270101264. 4

Question Number : 106 Question Id : 87827025660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(
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Options:

878270101261. 1
878270101262. 2
878270101263. 3

878270101264. 4

Question Number : 107 Question Id : 87827025661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following disasters are natural as well as man-made?
(A) Fire
(B) Flood

(C) Theft

(D) Earthquake

(E) Biological infestation

Choose the correct answer from the options given below:
(1) (B) and (D) Only

(2) (D) and (E) Only

(3) (A)and (B) Only

(4) (A), (B) and (D) Only

Options:

878270101265. 1

878270101266. 2

878270101267. 3

878270101268. 4

Question Number : 107 Question Id : 87827025661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfaa o | sF i sver yrehfaer e amafafdd g € 2

(A) st

(B) @

(C) =

(D) ¥

(E) Sifersh 3TI9e

= fou 7T ol @ 9 W& SHY 1 994 Fife
(1) ad (B) 3R (D)
(2) ad (D) ¥R (E)
(3) AT (A) R (B)
(4) A (A), (B) 3R (D)
Options :

878270101265. 1
878270101266. 2
878270101267. 3
878270101268. 4

Question Number : 108 Question Id : 87827025662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following actions are considered as preventive measures for safeguarding documents?
A} Monitoring and control of relative humidity

B) Deacidification of paper

D) Avoiding and blocking pest
E) Filling of insect holds
Choose the correct answer from the options given below:

(1) (4) () and (B O
) (4)(0)and D) Ol
3) () (O and (D Only
) (A), (B) and (E) Only

(
(
(C) Reduction of light intensity
(
(

Options:

878270101269. 1
878270101270. 2
878270101271.3

878270101272. 4

Question Number : 108 Question Id : 87827025662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A) HTUT S T TSR 1@ T8 FHR
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(B) TSIl ol faswedE

(C) VTSl ol il ¥ oAl

(D) 2§ FHI 3R STl Vel
(E) 1 GRS T il ol e
e feu U foemedi H 9 W SR T il
(1) % (), () 3 (B

(2) e (A), ) R (D)

(3) % (B), (C) ¥ (D)

(4) % (A), (B) 3 (E)
Options :

878270101269. 1
878270101270. 2
878270101271.3

878270101272. 4

Question Number : 109 Question Id : 87827025663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To prevent sexual harassment in the work place POSH ACT, 2013 was introduced. The features
of the Act include:

(A) Applies to all workplaces with more than 50 employees
(B) Internal complaints committee’s must be set up

(C) Employees who experience sexual harassment can file a complaint with ICC or directly with
the police

(D) Employers who do not comply with the POSH Act can be fined up to Rs. 50,000
Choose the correct answer from the options given below:

(1) (4), (B) and (C) Only

Options :

878270101273. 1
878270101274. 2
878270101275. 3

878270101276. 4

Question Number : 109 Question Id : 87827025663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (A), (B) 5 ()

() % (B), () R (D)

(3) = (B) (D) 9 B

(4 % (O), 0) 4 (F)

Options :

878270101273. 1

878270101274. 2

878270101275. 3

878270101276. 4

Question Number : 110 Question Id : 87827025664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are subordinate offices of the Ministry of Culture, Government of India ?
A) National Archives of India, New Delhi

(
(B) National Museum, New Delhi

(C) National Gallery of Modern Art, New Delhi

(D) National Research Laboratory for Conservation of Cultural Property, Lucknow
() Indian Museum, Kolkata

Choose the correct answer from the options given below:
(1) (4) () () and (D) Only

(2 (A),(C), (D)an ()Oﬂlv
(3)(B) (C) and (D) Onl

(4 (O, (D)and )Onlv
Options:

878270101277. 1
878270101278. 2
878270101279. 3

878270101280. 4

Question Number : 110 Question Id : 87827025664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A fou U foshedl H o HE I 1 T Rl :

(1) ‘
(2)
(3)
(4)
Options :
878270101277. 1
878270101278. 2
878270101279. 3

878270101280. 4

Question Number : 111 Question Id : 87827025665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are consumer-rooted bases of market segmentation?
(A) Age

(B) Usage rate

(C) Education

(D) Benefits wanted

(E)  Geographic location

Choose the correct answer from the options given below:
(1) (A), (B) and (C) Only

(2) (B),(C)and (D) Onl}’
(3) (A),(C) and (E) Onl

(4) (B), (D) and (E) Onhr
Options:

878270101281. 1
878270101282. 2
878270101283. 3

878270101284. 4

Question Number : 111 Question Id : 87827025665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR el & SyHiameg sMHR fefafea A G R A € ?

(A) T3
(B) UHM T
(C) Twem
(D) 14 =e amd
(E)  irmifeter ferfd
= fou T fasmedi ° ¥ Wt 39T 1 T4 Hif9U
(1) ad (A), (B) 3R (O
(2) %ad (B), (O) ¥R (D)
(3) ad (A), (C) ¥R (E)
(4) 94 (B), (D) 3R (E)
Options :

878270101281. 1
878270101282. 2
878270101283. 3

878270101284. 4

Question Number : 112 Question Id : 87827025666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are psychological factors inherent in each individual that influence his/her
decision to visit a museum?

(A) Perception

(B) Motivation

(C) Social class

(D) Attitudes

(E) Museums marketing inputs
Choose the correct answer from the options given below:
(1) (4) (B) and (E) Onl

Z) (), (C)and (D) Onl

3) (A), (B)and (D) Only

) (0) (D) and (B Ol
Options :
878270101285. 1
878270101286. 2

878270101287. 3

878270101288. 4

Question Number : 112 Question Id : 87827025666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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T fou o el A 4 W S T i
(1) (A), (B) 3 (F)
() ¥ (B),(C) 5 )
() (A), B) 4 (D)
(4 (C), 0) & ()
Options :

878270101285. 1
878270101286. 2
878270101287. 3

878270101288. 4

Question Number : 113 Question Id : 87827025667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following terms are defined in the Ancient Monument and Archaeologital sites and
Remains Act?

(A) Prohibited Area

(B) Construction

(C) Antiquity

(D) Art Treasure

(E) Owner

Choose the correct answer from the options given below:
(1) (4),(B) (C) and (D) Only

(2) (A),(C) and (D) Only

(3) (), (C) and (D) Only

(4 (A),(B) (C) and () Only

Options :

878270101289. 1
878270101290. 2
878270101291. 3

878270101292. 4

Question Number : 113 Question Id : 87827025667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270101289. 1
878270101290. 2
878270101291. 3
878270101292. 4

Question Number : 114 Question Id : 87827025668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wildlife (protection) Act defines which of the following?

(A) Animal

(B) Wildlife

(C) Weed

(D) Vermin

(E) Wild animal

Choose the correct answer from the options given below:
(1)  (B), (D), (E) Only

(2) (A) (B), (O, (E )Oﬂly
(3)  (A). (B), (D), (E) Onl

(4) (B), (©), (D), (E )Orﬂ'v'
Options:

878270101293. 1

878270101294. 2

878270101295. 3

878270101296. 4

Question Number : 114 Question Id : 87827025668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(E) SiTelt 9 (Wild animal)

4 fou v fomeqi § U W& S F T AT
(1) a (B), (D), (B)

() (A), () () (B)

(3) ad (A), (B), (D), (E)

(4 % (8) (), (D),

Options:

878270101293. 1
878270101294. 2
878270101295. 3

878270101296. 4

Question Number : 115 Question Id : 87827025669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following choices related to the convention for safeguarding of the Infangible Cultural
Heritage are relevant to India?

(A) It has nominated elements on the Representative list of the Intangible Cultural Heritage of
Humanuty

(B) It has nominated elements on the list of Intangible Cultural Heritage in Need of urgent
safeguarding

(C)  Are of the nominated elements ofits Representative list of the Intangible Cultural Heritage of
Humanity is multinational

(D) It does not have any element pending on the tentative list for nomination

(E)  Majuli the largest island riverine heritage was nominated to UNESCO list but removed of its
status due to violation of conditions

Choose the correct answer from the options given below:
(1) (4) ®) (C), (O B

(2) (A) (€, (E) Only
) (A Q Olﬂ}f
(4) (), (O) (&) Onl
Options:

878270101297. 1
878270101298. 2
878270101299. 3

878270101300. 4

Question Number : 115 Question Id : 87827025669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(3 % (A),(C

(4 (3), 0),

Options :

878270101297. 1

878270101298. 2

878270101299. 3

878270101300. 4

Question Number : 116 Question Id : 87827025670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II

Name of the museum Year of foundation/Inauguration
(A) Victoria Memorial Hall, Kolkata () 1894
(B) Baroda Museum and Picture Gallery, (I) 1921

Vadodara

(C) Salarjung Museum, Hyderabad () 1949
(D) National Museum, New Delhi (IV) 1951
Choose the correct answer from the options given below:
(1) (AHI), B)-{), (O-V), (DHIL)

2) (AHI, B)-1V), (©)-0), DKL)

(3) (AMIV), (BHI), (CH), (O)-0

(4) (A1), (B-D), CHIV), (D))

Options:

878270101301. 1
878270101302. 2
878270101303. 3

878270101304. 4

Question Number : 116 Question Id : 87827025670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eI & 919 Gell-11 1 fier Hifsu
Tat-I G-I
HIGET ol T TTIAT /3T T a8
A)  foerifan Hiftre 31, hiasm ) 1894
B) @S HRIeH Ud fo e, deieq m 1921
C) HIEAHSTT HYRIeT, TeUae ) 1949
D) U Hyger, T foeed IV) 1951
A feu Tu foeredi § ¥ W I H T HIfAC
(1) (A)-I), B)-1), (O-1V), (D)-(I)
(2) (A, (B)-(IV), (C)-(), (D)-(I)
(3)  (A-(IV), (B)-(II), (C)-(I), (D)-(1)
(4) (A1), (B)-(1), (C-(IV), (D)-(I)

Options:

(
(
(
(

— e

878270101301. 1
878270101302. 2
878270101303. 3

878270101304. 4

Question Number : 117 Question Id : 87827025671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - II.

List - I List - 11
(A) Veiled Rebeca () Allahabad Museum, Prayagraj
B) Three Pujarans (0) Indian Museum, Kolkata
(C) Pistol of Chandrasekhar Azad () National Gallery of Modern Art, New Delhi

(D) Barhut Sculptures (IV) Salarjung Museum, Hyderabad
Choose the correct answer from the options given below:
I

(AR, (BH1D, -1, (DHIV)

(1) (AAl

(2) (AN, (B-0), (C11V), (DM}
(3) (A0, (BFLV), (CHI), (DML)
(4) (ALV), (BHI), (C-, (DKL)

Options:

878270101305. 1
878270101306. 2
878270101307. 3

878270101308. 4

Question Number : 117 Question Id : 87827025671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o 919 Fat-11 1 fief Fif ;

( () TeTereIE HYRTeH, A

(B) () R I, IR

(C) TF5IER HSTE  fite () TS SR el Wgferd, 7 feeed
(D) A % o (V) HeTRSIT HaFRTerd, 350aT

el T U forsedl W 9 T S 1 99 I

(1) (A, (B)-, (©-(0, (D}HIV)

(2) (AT, (B)-(D), (OHIV), (D)-(I)

(3) (A0, B)-(IV), (CHII), (D)-()

() (A-(IV), B)-(Im, (-(1), D))

Options :

878270101305. 1
878270101306. 2
878270101307. 3

878270101308. 4

Question Number : 118 Question Id : 87827025672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List = II.

List - I List - II

(Publication) (Author)
(A) Interpreting our Heritage () R B. Light, D. A Roberts J. D, Stewart
(B) A social history of museums () Freeman Tilden

What the visitors thought
(C)  Museum Documentation Systems : () Caroline K. Keck and others

Developments and Applications
(D) A primer on Museum Security (IV) Kenneth Hudson
Choose the correct answer from the options given below:

(2) (AMI, @
(3) (AMI, (B
(4 (AK
Options:

8782701013009. 1
878270101310. 2
878270101311. 3

878270101312. 4

Question Number : 118 Question Id : 87827025672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oL o W14 oI 1 e ife
Ll eIl

TR GLeE)
(A) TR i g 0 R e, ey T, 93, T
(B) T fedl i wfo: M B foeed
e ¢ fafed ofe
(C) oM T e INEGERETE
(D) TWER & wffem frfedt (IV) 9 FEHT
A1 e T foedl o & T S 1 o AN
(1) (AT, (BHIV), (C-(1), (DH)
(2)  (AMI), B)-(), ©)-(1), (PHIV)
(3)  (A-I), BHIV), C)-(1), (DA
(&) (A-{IV), (B, C)-(), O)-0
Options :

8782701013009. 1
878270101310. 2
878270101311. 3
878270101312. 4

Question Number : 119 Question Id : 87827025673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match the type of Display in List - I with its characteristics in List - II.

List - I List - II
Type of Display Characteristics
(A) Contemplative display () ~ Genuine or imaginary scene is reconstructed
(B) Didatic display () Tries to tell a story to teach something
(C) Reconstruction display ~ (IIT) Visitors are encouraged to explore the displayed objects
(D) Discovery display (IV) Beautiful or inspiring things are displayed
Choose the correct answer from the options given below:
(1) (AHV), (B, K1, (D4
@) (M), (B, CHIV), 0K
3) (M) BH, CHD, DK
[4) (AH) (B, (CHD, DK
Options :

878270101313. 1
878270101314. 2
878270101315. 3

878270101316. 4

Question Number : 119 Question Id : 87827025673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TollL & 0 el 1 i i
el Tl
fewet w1 v feorem
(A) fe fere () e 2 e v o T T 3 o ¢
(B) T e (1) ¥ T o feft, vl S o ) e
() T fem () gl 1 ol 1 75 agal %1 G F o A
ERE
(D) @i fem (IV) 7 9 el 7 e Fn 7 21
e few e foedl 9 W ¥ 9 7 A
(AMIV), (BM{D) (CH{II), (DH(I)
(AM{ID), (B, (C-(1v), (D))
(A-{I), (B)-(0), (C1-(, (DHIV)
) (AK{IV), (BH, (CH{D, (D}

Options:

()
2
()
4

878270101313. 1
878270101314. 2
878270101315. 3

878270101316. 4

Question Number : 120 Question Id : 87827025674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List -1 List - IT
(A) Jean Piaget (I) ~ Theory of experiential learning
(B) Howard Gardener (I)  Theory of cognitive development
(C) John Dewey () Taxonomy of learning objectives
(D) Benjamin Bloom (IV) Theory of multiple intelligences
Choose the correct answer from the options given below:
(1) (AW, (B-V), A, (D))
2) (AHIV), (B, (O, (D))
B) (AXI), B-0V), (CH1), (D))
@ (AX0, (BHIV), (O, (D))

Options:

878270101317. 1
878270101318. 2
878270101319. 3

878270101320. 4

Question Number : 120 Question Id : 87827025674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 o |19 Gei-11 1 e ife

( ()  egufass st 1 fagid
(B) TMEE MET () T faem & fagia
(C) it Eheft (1) AferTe SRl ol Sfiehaul
(D) S =qH (IV) =g gfgwast 1 g
o feu Tu fashedi H 9 Tl S Bl 9T Hig

(1) (A)-1D), (B)-IV), (C)-(U), (D)-({)

(2)  (A)-(IV), (B)-(11D), (O)-1I), (D)-[)

(3)  (A)-1I), (B)-IV), (C)-(I), (D)~(III)

(4)  (A)-(D), (B)-(IV), (O)-(II), (D)-(1)

Options:

878270101317. 1
878270101318. 2
878270101319. 3

878270101320. 4

Question Number : 121 Question Id : 87827025675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
(Monument) (Stone)
(A) Dilwara temples ()  Granite
(B) Konark temple (I) Khandolite
(C) Brihadeswara temple (II) Sandstone
(D) Red fort (IV) Marble

Choose the correct answer from the options given below:
(1) (A)-1V), (B)-(L), (©)-(D), (D)-(I1)

(2)  (A)-(D), (B)-(I), (O)-(1D), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (C)-(LL), (D)-(I)
(4) (A)-(IID), (B)-(D), (O)-IV), (D)-(I)
Options :

878270101321. 1
878270101322. 2
878270101323. 3
878270101324. 4

Question Number : 121 Question Id : 87827025675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HeA-1 % T Geii-11 %1 o wifs
qeit-1 qEli-11

Wk eI
(A) feerarer Hfiet [ U
(B) <RIV HfGT () werane
(C) FaEavat Hfcx (II) AT Te2R
(D) & foet (IV) HITHRHL

= feu 7o fasredi § | W& 39T F1 999 FifAU

(1) (A)-(IV), (B)-(ID), (C)-(D), (D)-(11)
(2)  (A)-(D), (B)-(I1T), (O)-(II), (D)-(1V)
(3)  (A)-(), (B)-(IV), (C)-(IL), (D)-(I)
(4)  (A)-(I), (B)-(I), (O)-(IV), (D)-(IT)
Options:

878270101321. 1
878270101322. 2
878270101323. 3

878270101324. 4

Question Number : 122 Question Id : 87827025676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II

(Material) (Reagent used for Identification)
(A) Rosin size (I)  Ehrlich’s reagent
(B) Animal Glue (I) Iodine
(C) Paper fibre (II) Herzberg stain
(D) Starch (IV) Sugar + Sulphuric acid
Choose the correct answer from the options given below:

(1) (A(IV), (B)-(1), (O-(II), (D)-(II)

(2) (AL, B, (©-(1V), (D)-()
(3) (A, (B)-(), (©)-(1), (D}HIV)
(4)  (A)(D), B)-IV), (O-ID, (D))

Options :

878270101325. 1
878270101326. 2
878270101327.3

878270101328. 4

Question Number : 122 Question Id : 87827025676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eI & 919 Gell-11 1 fier Hifsu

S T ] W ST
(A) TS B (TTeT) () et e
(B) TYWH () SFEH
(C) HITe & W () gt Sfsen
(D) We (%) (IV) =i+ Herfi s
A feu Tu foeredi § ¥ W I H T HIfAC
(1) (AHIV), (B)-I), (O, (D)-(I)
(2) (A}, (B)-(1D), (O)-(IV), (D)-0)
(3) (A, (B)-(), (C)-(1), (D}-(IV)
(4)  (A-I), B}-IV), (O, (D)-(I)

Options:

878270101325. 1
878270101326. 2
878270101327.3
878270101328. 4

Question Number : 123 Question Id : 87827025677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - I List - II
A)  Financial policies ()  Health and Safety policies
B) Employment policies () Internal audit policies
C) Corporate ethics policy (L) Policy on accounting standards
D) Corporate governance and (IV) Policies on core corporate values
compliance policies
Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(T), (CH(1V), (D)-(T])

l
(2) (AL, B)(1), (O-(1), (D}IV)
(3) (A1), B)-(1), (O, (D}IV)
(4) (A, (B)-(IV), (C)-(I), (D)-(])
Options:

878270101329. 1
878270101330. 2
878270101331. 3

878270101332. 4

Question Number : 123 Question Id : 87827025677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 & 919 Felt-I1 %1 fied i ;
Tel-I gHl-11

(A) fafem e () e 3R g S
(B) T Hfeal () oFidfe cran wen Ao
(C) MNZ =R Hifd (IT) i Hieni Hadl ifd
(D) e WA 4R e A (IV) T e ged gee ifeat
9 feu T foemedl H 9§ Wt ST B 9 AT :

(1) (A)-(I, (B)-(D), (CHIV), (D)-(I)

(2) (A}, (B)-(D), (CHID), (DIIV)

(3)  (A)(I), (B)-(D), (OHID), (D}(IV)

(4) (A}, (B)-(IV), (C)-(I), (D)-(1)

Options :

878270101329. 1
878270101330. 2
878270101331. 3

878270101332. 4

Question Number : 124 Question Id : 87827025678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - II.

List - List - II
Level of Demand Marketing Task
(A) Negative demand () Synchro marketing
(B) Full demand () Remarketing
(C) Declining demand () Analyse and develop appropriate marketing strategy
(D) Fluctuating demand (IV) Maintain demand and improve quality

Choose the correct answer from the options given below:

(1) (A, (BMIV), (C-{L), (D1
() (ML), (BMLV), (C-{0) (DHL)
(3) (AN, (BI{I), (CHIV), (DHI)
(4)  (AMIV), (BHII), (CH), (D))
Options:

878270101333. 1
878270101334. 2
878270101335. 3
878270101336. 4

Question Number : 124 Question Id : 87827025678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl o 919 Felt-11 1 e #if ;
Tt Il

T T THTET (U0 ) T
(A)  THRICH HIT () e qieRfen ( fomum)
(B) A (kR
(C) weuier Wi (I11) 3T ferwu TRttt a1 fergerom ud b et
(D) aHfeer wi (IV) T SRR TG 90 Ve H G T
A fou U foeredl # 9 W I A TH P
(1) (A, (BIHIV), (CH(I), (D)-(1)
(2) (A, (BIHIV), (CH(T), (D}(I)
(3) (A, (BI1), (C-(IV), (D}(I)
(4)  (AHIV), (B)-(I), (C(I), (D)-(1
Options :

878270101333. 1
878270101334. 2
878270101335. 3

878270101336. 4

Question Number : 125 Question Id : 87827025679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - T with List - II.

List - List - 11
(A) Indian Treasure Trove Act 1878 () “Species” means any animal or plant
whether alive or dead
(B) The persons with Disabilities Act, 19% ~ (Il) Anything of any value hidden in the sol
or in anything affixed there
(C) Convention on International Trade in () Ruins must be maintained and measures
Endangered species of wild fauna and necessary for the permanent
flora, 1973 conservation and protection of
architectural features and of objects
discovered must be taken
(D) The Venice Charter, 1964 (IV) “Mental illness” means any mental

disorder other than mental retardation

Choose the correct answer from the options given below:

(1) (AKLV), (BHID) (CHID), (DH)
(2) (AXI, (B-{D, (CHIV), (DH)
(3) (AM1), (K, (CHID, (DHIV)
(4 (AMI), (1Y), (CHD) (DHI)

Options:

-..._...—\_-'

878270101337. 1
878270101338. 2
878270101339. 3

878270101340. 4

Question Number : 125 Question Id : 87827025679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ol 91 o111 i e
el Tl
A) ¥fem I W, 1878 () ‘w9 A 5 A I, T S @ 4
g 2|
(B) fo e e fenfofedl v, 1995 () o o 8 Foreh ot e ol 4 <0 1 9
g B
() T 4 e g A Uee ([l SR % S o o R s
TS 9 e A U N, 1973 el o erelf e o vl e o

AT Tl e 39 o |

(D) fe ofm =7, 194 (IV) " sl 31" 8 e e 6 3 e
fomg i 2|

e fe o o o 9 Y S

(1) (AR{IV), (BRI, (CH(I), (D))

(2) (A}{I), (B-0). (C1(IV), (DK

(3) (A}(T) (BH{ID). (C1(I, (DHIV

(4 (AKI) B}V), (CHD), (DA

Options:

878270101337. 1
878270101338. 2
878270101339. 3

878270101340. 4

Question Number : 126 Question Id : 87827025680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events from the history of National Museum, New Delhi in chronological
order ;

A} Exhibition at Burlington House, London

B) Laying down of the foundation stone by Pandit Jawaharlal Nehru

D) Exhibition at Rashtrapati Bhawan, New Delhi

(
(
(C) Preparation of blueprint by Maurice Gwyer committee
(
(E) Inauguration by Dr. Sarvapalli Radhakrishna

Choose the correct answer from the options given below:
(1) (4).(8) (D) ), (C)

Options :

878270101341. 1
878270101342. 2
878270101343. 3

878270101344. 4

Question Number : 126 Question Id : 87827025680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Hpglerd, 76 fovel % 3ferd i e Sefiell 1 Fieign | orafier Ffa
(A) afefrer 713, T W Teu

(B) fed ST T e A gen! STER e

(C) wiftw TamR gfufd 4 @ dam fo
(
(

D) T e, 7 feee # weu

F) S, Holdeel THIHWH g 3¢
Aol U T forshed] # ¥ e IR 1 9 0
() (A). ®) D), E).

Options:

878270101341. 1
878270101342. 2
878270101343. 3

878270101344. 4

Question Number : 127 Question Id : 87827025681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps involved in the preparation of a miniature painting.
(A) Burnishing

(B) Mixing of pigments with gum

(C) Preparation of Vasali

(D) Training of drawing

Choose the correct answer from the options given below:

1) (), D) (®) A

2 (©, 6 D), (4
(3) (). O) () ©
(4) (®) (4), (), D)
Options:

878270101345. 1
878270101346. 2
878270101347. 3

878270101348. 4

Question Number : 127 Question Id : 87827025681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i3 oy foe o 5 wnfAer freforfed =2l st e § @msy
(A) ™HIM (Burnishing)

(B) M =Rl TMig <k & fHeIr

(C) aHelt TR HEA

(D) ST &I <8 HT

= fou U fasredi § 9 W& 39T &1 99 Fifo

(1) (©), (D), (B), (A)
(2) (©), (B), (D), (A)
(3) (B) (D), (&) (O)
4) (B) (A) (O), (D)



Options :

878270101345. 1
878270101346. 2
878270101347.3

878270101348. 4

Question Number : 128 Question Id : 87827025682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

An artifact enters a museum as a potential gift. Identify the correct sequence of record-keeping
procedure assuming the gifts has been accepted for acquisition.

(A) Prepare a catalogue card

(B) Preparation of gift agreement which is signed by the donor and the museum authority
(C) Preparation of temporary receipt for the donor and for the museum

(D) Record the artifact in the Accession register and assign a number to it

(E) Send a letter to the donor to acknowledge the gift

Choose the correct answer from the options given below:
(1) () (), (). (4), (D)

Q) (©) ), (), 0, ()
() (8) (€), (D), (4), )
(4 (©) (), &) (D), (4)
Options:

878270101349. 1
878270101350. 2
878270101351. 3

878270101352. 4

Question Number : 128 Question Id : 87827025682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

I FEH o ST e S 3 W ol W &1 et @ v (e #) #
E 51 SRR i o Fet e A 3, R o s i

(A) T T A

(B) 3 A A A i R 2 AR I & VA 4 2

(C) R R WRIed  few e i T o e

(D) i et H el 1 e wfowe e o R e W F

(F) 3R 1 WA o o gt 1 T 9o

T e T e W 9 ) S0 1 i
(1) (©, ) () @) O

(2) (), (©),(4), D), ©

(3 (8) (C), D) A), ®

(4 (C) (), &), (O, (&)

Options :

878270101349. 1
878270101350. 2
878270101351. 3

878270101352. 4

Question Number : 129 Question Id : 87827025683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the steps of design thinking process:
(A) Define

(B) Prototype
(C) Empathize
(D) Ideate

(E) Test
Choose the correct answer from the options given below :

(1) (A), B), (©) (E), (D)

Options:

878270101353. 1
878270101354. 2
878270101355. 3
878270101356. 4

Question Number : 129 Question Id : 87827025683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



stfvrehed foram wfieen (fesed feifem W) i wrafeq i ;
A)  TRIfYd wE

(
(
(C) FHFI T
(
(

E) S
T fou Tu fashedl § 9 W& 3T F T Hif
(1) (A), (B), (), (E), (D)
(2) (©), (B), (A), (D), (E)
(3) (B), (D), (C), (A), (E)
4) (O, (A), (D), (B), (E)
Options:

878270101353. 1
878270101354. 2
878270101355. 3
878270101356. 4

Question Number : 130 Question Id : 87827025684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following as per the hierarchy of learning objectives given by Bloom:
(A) Justify
(B) Create
(C) Explain
(D) Repeat

(E) Demonstrate

Choose the correct answer from the options given below:

() (&), ®) © E) D
2 (O)(©) (E) B) (4)
(3)  (®) O) ), ©) @)
(@) (D), ®) ©) @A) &
Options:

878270101357. 1
878270101358. 2
878270101359. 3
878270101360. 4

Question Number : 130 Question Id : 87827025684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A). (B), (C), (E), (D)
(

( )
3) (B) (D), (E), ), (4)
4) (D) () ©) (&), )
Options:

878270101357. 1
878270101358. 2
878270101359. 3

878270101360. 4

Question Number : 131 Question Id : 87827025685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange in correct order the following steps generally used in conservation of high fired ceramic
objects.

(A) Joining of broken pieces

(B) Cleaning of dust and dirt

(C) Removal of previous restorations

(D) Retouching

(E)  Filling missing areas

Choose the correct answer from the options given below:
(1) (O) (€ 6) (4) ()

2 (4,0 C) &) {)
) (8) () (), (©) &)
(4 (©) (), (A) (), (0)
Options :

878270101361. 1
878270101362. 2
878270101363. 3

878270101364. 4

Question Number : 131 Question Id : 87827025685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270101361. 1
878270101362. 2
878270101363. 3

878270101364. 4

Question Number : 132 Question Id : 87827025686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange in order the following steps commonly used in conservation of a manuscript.
A) Removal of acidity

(

(B) Filling of holes
(C) Removal of stains
(D) Documentation of conservation status

(E) Binding of folios

Choose the correct answer from the options given below:

(1) (8) (4 (B) (D), ©

2 (©)(B) (D) (&), £
() (O) ©) (A) B), £
(4) (&), (D) ) ), [
Options:

878270101365. 1
878270101366. 2
878270101367. 3
878270101368. 4

Question Number : 132 Question Id : 87827025686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270101365. 1
878270101366. 2
878270101367. 3

878270101368. 4

Question Number : 133 Question Id : 87827025687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the activities of the strategic management process in order:
(A) Analyze and formulate strategies

(B) Implement strategies through projects

(C) Review and define the organisational mission

(D) Set objectives to achieve strategy

Choose the correct answer from the options given below:

(1) (D) (B) Q) (A)

2 (©, @A) D) B)
() (&) (©), D) (B)
(4) (©), (), (A), D)
Options:

878270101369. 1
878270101370. 2
878270101371. 3

878270101372. 4

Question Number : 133 Question Id : 87827025687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) Uil & merm § WEfaE &1 s

(C) T fvm st gt i aRemn

(D) I Bifae 7 % for 2w fAuifa s

= feu U fawmedi § 9 et S9 F1 F99 Hifo
(1) (D) (B), (), (A)
(2) (O, (A), (D), (B)
3) (A) (©), (D), (B)
(4) (©), (B), (A), (D)



Options :

878270101369. 1
878270101370. 2
878270101371.3
878270101372. 4

Question Number : 134 Question Id : 87827025688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Arrange the steps involved in the Consumer Research process in order.
A) Collect Secondary data

B)  Designing and Conducting Primary research

D) Develop objectives
E) Analyse data
Choose the correct answer from the options given below:

(1) (D) (&) B) E) (€

(
(
(C) Prepare report
(
(

(), (©)
(2) (D), (B), (A), (E), (©)
(3) D) (A) E), ©), B)
(4)  (8B), (A), (D), E), (€
Options:

878270101373. 1
878270101374. 2
878270101375. 3

878270101376. 4

Question Number : 134 Question Id : 87827025688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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9 feu o foeredi ® § W I 1 9 FifTU
(1) (D), (A), B), E), ()
(2) (D) (B), (A), E), (C)
(3) (D) (A) (E), ©), (B)
(4) (B) (A) (D), (E), (C)

Options:

878270101373. 1
878270101374. 2
878270101375. 3
878270101376. 4

Question Number : 135 Question Id : 87827025689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The chronology of legislation of India is as follows
A) The Antiquity and Art Treasure Act of India

(
(B) People with Disabilities Act

(C) The Ancient Monuments and Archaeological sites and Remains Act
(D) Indian Treasure Trove Act

(E) Right to Information Act

Choose the correct answer from the options given below:

(1) D) E) ®) @A) (©Q

2) () (4) (D) (), (©

(3) (D) (), (4), B), €

(4) () (©), (D), B), (4)

Options:

878270101377. 1

878270101378. 2

878270101379. 3

878270101380. 4

Question Number : 135 Question Id : 87827025689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (D), (B), (B), (A), (©)
(2) (B), (4), (D), (E), (O
(3) (D) (©) (A) (B), (E)
(4) (E) (©), (D), (B), (A)
Options:

878270101377. 1
878270101378. 2
878270101379. 3
878270101380. 4

Question Number : 136 Question Id : 87827025690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Museum exhibitions are a “Meta communications” medium.

Reason (R):  They communicate with the aid of the most advanced communications media of
their time.

[n the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4)  (A) s not correct but (R) is correct

Options:

878270101381. 1
878270101382. 2
878270101383. 3

878270101384. 4

Question Number : 136 Question Id : 87827025690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101381. 1
878270101382. 2
878270101383. 3

878270101384. 4

Question Number : 137 Question Id : 87827025691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A): Wall Paintings in Ajanta show flaking of pigments.

Reason (R) :  Flaking of pigments is a property of tempera paintings, hence Ajanta paintings
are not frescoes but tempera paintings.

[n the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct
(4) (A} s not correct but (R) is correct

Options:

878270101385. 1

878270101386. 2

878270101387. 3

878270101388. 4

Question Number : 137 Question Id : 87827025691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101385. 1

878270101386. 2

878270101387. 3
878270101388. 4

Question Number : 138 Question Id : 87827025692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : When archeologists open a tomb objects apparently in perfect condition may
shrink or warp and sometimes even turn to dust.

Reason (R) :  The changes in relative humidity and temperature of the atmosphere cause such
deterioration.

In the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct

Options:

878270101389. 1
878270101390. 2
878270101391. 3

878270101392. 4

Question Number : 138 Question Id : 87827025692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT ) %9 0 T 2: T SR (Assertion A) % ¥ ¥ fef & 1 CH 984 FOT (Reason R)

wHg

SR (A): T AR el TR 1 ¢ o 36 ) herew o <@ B 3 e A
A 2 & 3 W 1o g 6 € e -t o i € ot €

FO(R): AR ST 94 ATOGA  T o O TR € ¢

TR F9F o e W, A 0 foret # 4 W I o o

(1) (A) 3R (R) 3 0 & 4R (R), (4) 1 ) o &

) (A) 3R (R) ¥ 9 & e (R), (A) 3 e Y

B) (A)TA T T (R) o &

(4) (A) 59 2, Tif (R) 0 €

Options :

878270101389. 1

878270101390. 2

878270101391. 3

878270101392. 4

Question Number : 139 Question Id : 87827025693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): The capital expenditure usually carries with it the implication of subsequent
revenue expenditure,

Reason (R) :  The capital expenditure is one time expenditure and does not recur every year,

[n the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct
(4)  (A) s not correct but (R) is correct

Options:

878270101393 1

878270101394 2

878270101395 3

878270101396. 4

Question Number : 139 Question Id : 87827025693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270101393. 1
878270101394. 2
878270101395. 3
878270101396. 4

Question Number : 140 Question Id : 87827025694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Marketing is “the art of selling product”
Reason (R) :  Selling is not the most important part of marketing,

In the light of the above statements, choose the most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct

Options:

878270101397. 1
878270101398. 2
878270101399. 3

878270101400. 4

Question Number : 140 Question Id : 87827025694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 8782701117
Question Shuffling Allowed : Yes
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Question Id : 87827025695 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage carefully and answer the question:

There was little, if any intellectual or methodological foundation to Kirk's work. Indeed
JW.Y. Higgs identified Kirk as one of a number of important enthusiasts who did much good
work but failed to understand the essential difference between simply collecting specimens and
making record of daily life and work'.

This assessment is not far removed from the truth. Kirk was a physician who, in his tastes
and approach, owed much to the amateur and electic traditions of late-Victorian antiquarianism.
In the early 1890's, when he was living in London, he began to collect ‘bygones’

Over the years his collection grew to extraordinary proportions. The material he amassed
was selected very much at random and gathered together with enthusiasm, to the point of obsession.
Kirk purchased much of his material from antique shops and dealers, allowing his natural curiosity
to delicate the choices made. He was quite prepared to buy objects in ‘sets’, exchange material if
necessary and purchase from as far afield as Dundee and Weston super Mare, Kirk advertised in
publications such as the Exchange and Mart and in various ways established trade contacts
throughout England and Scotland. His collecting activities had no geographic boundaries and no
cultural purpose, other than apparently to satisfy his personal need to acquire. In this he was
happy to take over whole collections: in 1925 he bought a collection of ‘bygones” from Darlington
Library; and in 1933 the collections of the Greenland Fishery Museum, Kings Lynn (York Castle
Museum Archives).

Whatever Kirk's interest might have been in the lives and histories of the people he met
through his work, or the cultural significance of the material he gathered, little, if anything, was
committed to paper. It is remarkable that with the documentation that survives with the collections
now housed at York there is little except lists of the names of objects. No notebooks, fieldnotes,
observations or publications appear to exist. His activity was personal collecting rather than an
extension of painstaking, in-depth scholarly curatorship.

Sub questions

Question Number : 141 Question Id : 87827025696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The primary purpose of the passage is to:

(1) Appreciate Dr. John Kirk's approach to and ways of making collections
(2) Enumerate Dr. Kirk's achievements

(3) Describe Dr. Kirk's approach to making collections

(4) Justify Dr. Kirk's approach to making collections

Options:

878270101401. 1
878270101402. 2
878270101403. 3

878270101404. 4

Question Number : 142 Question Id : 87827025697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The author quotes ]. W. Y. Higgs in order to:
(1) Support his/her view about limitations of Dr. Kirk’s work

(2) Compare Dr. Kirk’s work with other collectors
(3) Argue for Dr. Kirk’s work
(4) Offer praise for Dr. Kirk's work

Options :

878270101405. 1
878270101406. 2
878270101407. 3

878270101408. 4

Question Number : 143 Question Id : 87827025698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kirk's taste and approach influenced by late-Victorian antiquarianism can be best described as:
(1) Professional and wide ranging

(2) Professional and narrow

(3) Non-professional and wide-ranging
g

4) - Non-professional and narrow
Options:
878270101409. 1
878270101410. 2

878270101411. 3

878270101412. 4

Question Number : 144 Question Id : 87827025699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Kirk amassed collections:

(1) For cultural purpose

2) For his intellectual needs

3) To satisfy his personal desire to collect
(4) To financial gains

Ay g

Options :

878270101413. 1
878270101414. 2
878270101415. 3

878270101416. 4

Question Number : 145 Question Id : 87827025700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Documentation of Kirk’s collection survives in the form of:
(1) Notebook

(2) List of the names of objects

(3) Fieldnotes
(

4) Publications

Options:

878270101417.1
878270101418. 2
878270101419. 3

878270101420. 4

Question Id : 87827025695 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Options:

878270101401. 1
878270101402. 2
878270101403. 3

878270101404. 4

Question Number : 142 Question Id : 87827025697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270101405. 1
878270101406. 2
878270101407. 3

878270101408. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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878270101413. 1
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Read the following passage carefully and answer the question:

Not until the twentieth century did museums clearly realize that one of their chief functions
as well as an all-important duty was to pass on their collections in pristine condition to succeeding
generations,

The conservator wants to know about their condition - how much they have deteriorated
and how they can e stabilized for a long future. In doing his work, he is dealing with four chief
classes of substances: organic materials, metals and their alloys, siliceous and equivalent materials,
and easel and mural paintings. The classic treatment of scientific museum conservation was written
by Harold J. Plenderleith, former keeper of the british Museum research laboratory. In the revised
second addition, A. E. A, Werner, then the keeper of the laboratory, collaborated with Mr.
Plenderleith, The volume remains the basic reference tool in this field,

Gold, Silver, lead, tin, copper and its alloys, iron, and steel are the chief metals. They are
inorganic, much more stable than organic materials, and little affected by light, temperature
variations, and biological reaction. They differ in their resistance to deterioration from variations
in humidity and from impurities in the air or the ground. Gold is the only metal that remains
virtually intact under all conditions. The others suffer from corrosion that may produce a pleasing
patina or heavy incrustation that ultimately transforms the metal into the mineral ore from which
it was extracted. Silver exposed to air tarnishes and if underground for a long period may take on
a patina. Copper and iron are easily oxidized in air especially in the ground.

Bricks and pottery, both of clay, are similar to natural stone in their resistance. If baked at
higher temperatures, they are equivalent to stone of average resistence; if baked at low heat or air
dried, they correspond to soft natural stone. Ceramics fired at high temperatures have great
resistance to deterioration, but water with salt in solution can produce efflorescences in them.
High humidity can dull the transparency of normally stable glass and lead to crizzling with a
multitude of small cracks,
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[n which century museums realised that passing on their collection in pristine condition to future
generations was one of their chief functions.

(1) Eighteenth century
(2) Nineteenth century
(3) Twentieth century
(4) Twenty first century
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According to the author a conservator deals with how many classes of substances mainly:
(1) Two

Options :

878270101425. 1
878270101426. 2
878270101427. 3

878270101428. 4

Question Number : 148 Question Id : 87827025704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Abook on scientific conservation of museum objects, considered as basic reference tool in the field
was written by the keeper of

(1) Louise Museum
(2) Victoria and Albert Museum
(3)  Getty Museum

(4)  British Museum
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Which of the following inorganic materials remains virtually unatfected by variations in humidity
and from impurities in the air or the ground?

(1) Gold
2)  Silver

2
(3) Copper
(4
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Crizzling is a type of deterioration commonly observed in:

1) Pottery
(2) Glass
(3) Bricks
(4) Limestone
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